Tl
E£3
oju
=l
ol
Ay

Al ¥o] Zol7F 4em, 6cm,8cm S




2.

73} o] DABCD 7} FOIFE 1), 42 4+ 9] & Fstolel.

P A
A .- ~.. D
7 \
\
\
\
re |l
8cnl .
4 5cm
/ I
/ 1
/ 1
! 1
! /
4 |/
B < —=C




A o] o7} 7}

3.

@ 75 ® 8 @ 85 ® 9

o7



@ 4, 4,5 ® 8, 15, 17

D 6, 7, 10

® 3, 4,5

@ 2, 3,4



5.  ohZ I8} o] LA =90° Q1 A4
ABC ¢ 4 A o4 BC o il 5-49] 22
H = & o, 270N &2 A& B &
e,
[11]
27]
@szax @bx:cy ©b2:ay
@bczah @QQZbC @h2:xy




oS 19 AABC oA A = 90° ,
ADIBC o], AD=6,BD =9 & uj,
CD 9] Aol& Fstot.,

D R
=%

Q



7.

Tha 13 2ol A = 90° ) 2 Z44f

ABC ©] 1 A |4 BC ofl & &~
H 2} ¢ off, BH 9] Zo]& 5

B e

-
2,

—

ko

71—65]
H

]



F7}e ABC 9] A A oA
o H

BECEER
1

°f

ojn

ot

oW

A

d

g 4

G
™

@ 1.6 ® 2 @ 24 ® 2.8

D 12






10. g I™oA /B =90° o], D, E = ZtzF BC, AB 2] &Ho]t},
AC=18 ¢ u], AD’ + CE- 9| Z+-& Fsfodat,




11.

t}-& 19 mABCD oA AD” + BC- 9] %

29

A
I
I
\
\

on @ 30 ® 41 8
@ 56 ® 61




12. ©hg 23] ZAZFE ABCD oA PA = 4,PC = 6 & o), PB°+PD"
o] k& ~Fotolet,

A D

@ 48 @ 50 3 52 @ 54 G 56



thg 23} o] ZAZHE ABCD |4 BD E
HE Aoz ste] ot aBFD = oJ®

AL

~

@ BF = DF ¢l o5 #4474



14. ohg 293 Zo] /A = 90° &) AZH47E ABC ©]4] BC = 1lem,
CD = 10cm , BE = 6em B o, »? 9] gh& Fapofe}.




15. & T93} 2ol /A = 90° 91 AZH42E ABC el 4 DC = 9,
AB=0,AC=8 9 o, BE’ - DE’ & 73}oit.

A




® AB’+BC =CD +AD
@ AB +AD =BC +CD
® AB’-CD’ =BC -AD’
@ AB’-CD =BC +AD"

® AB°+CD° =BC° +AD"



17. 398 232 -y2 & Fofelet,

Arro ——=1D
N -
3em 7
\ 7
\ 7
\/
2. em- % ~ycm
P
B C



30mcm?

o, Q = 12rcm? , R =

k13
=

J015 24P, Q, R

1
o

sholat,

2

AC 9] Ze]

cm



19. o5 233 ol

75]' 7_]}/\1-71—

@ ABC oA Azte 2+ e 47

™A -
o8 ofe ¥res %S o, 7 uhde] Wolel & s, +5, o At

Foir?




3} o] ¥

il 15

3 ABC °] O

22447}

20.

—_
1jo

2 T, Ay - Ay = 2rcem? O|TF A, A E M2

Ay, Ay AL S

ofet,

-

~

~-12cm- -~

~

cm?

cm?



21.

the 133} o] ACLBD ©]T AB =
4, CD = 11 94 W, AD" + BC" ] g<
Pt}

D 127 @ 130 ® 137

@ 140 ® 157

@]




22. T OPLo AZHARZIS A ®)

© A714719 ABC 9] Al 98 717} Ao w sh A 9]
BE12 721 Zolth, AB — 8,AC — 6 9 o), MU B Ro| Yol
Tatolar,




23.

o

a3} o] pABCD 9] &
7FBC S HP o] ok
th. AD=10cm, AB =
o], AAPR 9] Ho]&?

14

v
E EN UN UlO

o rr °

@ 36cm? @ 38 cm?

@ 42 cm? 3 44 cm?

_--10em- _ _




o2 192 2AFZHE ABCD 9] A B 7H A

@ 12 ® 14 @ 16 ® 18

® 10



25.

e a3} Zro] AARZS ABCD ©f| A

BD & A= A& sto] itk AF 9
4ol x & w2 W, BF 9 Zo]& x

O x+4 @ 2x ® 8—x @ 6-x




